Math Methods in Physics I

Trof Wladimir Lyra Dec 1st, 2016 Class #27

Odd/even transforms $g(k) = \frac{1}{2\pi} \int_{\infty}^{\infty} f(x) e^{ikx} dx$ $=\frac{1}{2\pi}\int_{-\infty}^{\infty}f(x)\cos(kx)dx-i\int_{-\infty}^{\infty}f(x)\sin(kx)dx$ For odd functions, f(n) cos(kn) is odd and the integral cancels $g(k) = -\frac{1}{2\pi} \int_{-\infty}^{\infty} f(n) \sin(kn) dx = -\frac{1}{\pi} \int_{0}^{\infty} f(n) \sin(kn) dx$ $f(\mathbf{x}) = \int_{-\infty}^{\infty} g(\mathbf{k}) e^{i\mathbf{k}\mathbf{x}} d\mathbf{k} = 2i \int_{-\infty}^{\infty} g(\mathbf{k}) \sin(\mathbf{k}\mathbf{x}) d\mathbf{k}$ substitute g(k) to remove the imaginary factor $f(n) = 2i\left(\frac{\pi}{n}\right) \int_{0}^{\infty} \sin kx \, dK \int_{0}^{\infty} f(x) \sin kx \, dx$ $= \frac{2}{\pi} \int_{0}^{\infty} g(k) \sin kx \, dk$ 5(K) = for f(x) sinkx dix for odd functions For even functions, leep the co-sine $f(\pi) = \frac{2}{\pi} \int_{0}^{\infty} g(K) \cos K X \, dK$ 5(K) = for f(x) cos Kx dx for even functions

Applichen to Reisson equation to the grant tional potential

$$\begin{aligned} \beta &= -\frac{GM}{r^2} \qquad \oint g \cdot dA = -\frac{GM}{r^2} \quad dA = -4\pi GM \\
M &= \int \rho \cdot aV \qquad \oint g \cdot dA = -4\pi G/\rho dV \qquad \int \nabla \cdot g \cdot aV = -4\pi G/\rho dV \\
\nabla \cdot g &= -4\pi G\rho \qquad \text{vic} \quad g = -\nabla \phi \\
\nabla^2 \phi &= 4\pi G\rho \qquad \text{vic} \quad g = -\nabla \phi \\
\nabla^2 \phi &= \rho \\
\frac{\partial^2 \phi}{\partial x^2} + \frac{\partial^2 \phi}{\partial y^2} + \frac{\partial^2 \phi}{\partial x^2} = \rho \\
\frac{\partial^2 \phi}{\partial x^2} + \frac{\partial^2 \phi}{\partial y^2} + \frac{\partial^2 \phi}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 \phi}{\partial y^2} + \frac{\partial^2 \phi}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial y^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2} = \rho \\
\frac{\partial^2 h}{\partial x^2} + \frac{\partial^2 h}{\partial x^2}$$

Porsevel theorem

Thick of a vector V. As seen in coordinate system S with basis vector \tilde{e}_{ij} , it can be written

 $V = \sum_{i} V_i \hat{e}_i$

where V: are the components of V in S. As seen from another coordinates system S' with basis vectors it it has a representation

$$V \geq V_{i} e_{i}^{\dagger}$$

divisionsly the length of the vector is independent of the coordinate system used to represent it. In other words, we must have

$$\sum_{i} V_{i}^{2} = \sum_{i} (V_{i}^{1})^{2}$$

Proceeding with the analogy for a function fix) one can have a position space representation in (-function basis as

$$f(n) = \int f(n) \, \delta(n-n') \, dn$$

where the "compneut" of f(x) along the "basis vector" S(x-n') is f(1) and we sum over all the possible axes. One can look at the same function in Fourier space representation as

where e-iKX are the "basis vectors" and g(k) are the components of the). along these basis vectors. You would then agree that

 $\int |f(x)|^2 dx = \int |g(k)|^2 dk$

So, Porceval theorem is just the restatement of the invariance of the length of a vector, independent of the representation used.

In ar are it means that the energy in real space is equal to the energy in Frontier space.

Ptolemy Great astronomon with wrong theory Described the secondaric model hearly to perfection, this alle to predict correctly the position of the planets.

It's so good it's used today in planetana gll around the world to simulate planet motion bears and motions substitute epicy das

Anishtle Earth Air Water Fire

Seek natural places

Rain (work) fells from sty Rocks (earth) fell when thrown Smoke (air) news Flomes (fire) nse

$$\frac{\partial U}{\partial t} + (v \cdot \nabla) v = g$$

$$\partial_{t}n_{t}^{\dagger} + V(5-2)n_{t} = 0$$

 $\int_{t}n_{t}^{\dagger} - 5Vn^{\dagger} = 0$

$$\dot{r} - r\dot{\phi}^2 = -\Lambda^2 r$$

$$r\dot{\phi} + 2\dot{r}\dot{\phi} = 0$$

$$\begin{cases} \frac{\partial v_r}{\partial t} - \frac{v_p^2}{r} = -\Lambda^2 r \\ \frac{\partial v_p}{\partial t} + \frac{v_r v_p}{r} = 0 \\ \frac{\partial v_r}{r} - \frac{v_r v_p}{r} = 0 \end{cases}$$

$$\begin{split} m_{p} = m_{p} + \Omega r \\ \partial_{1} v_{1}^{\prime} - (v_{p}^{\prime} + \Lambda r)^{2} = -\Lambda^{2}r \\ \partial_{1} v_{1}^{\prime} - (v_{p}^{\prime} + \Lambda r)^{2} = -\Lambda^{2}r \\ \partial_{1} v_{p}^{\prime} + 2\Lambda v_{r}^{\prime} = 0 \\ \end{pmatrix} \\ \frac{1}{2} v_{r}^{\prime} = \delta m_{r} e^{v(kr - \omega t)} \\ \frac{1}{2} v_{p}^{\prime} + 2\Lambda v_{r}^{\prime} = 0 \\ \frac{1}{2} v_{p}^{\prime} + 2\Lambda v_{r}^{\prime} = 0 \\ \frac{1}{2} \delta w = \omega^{2} = 4 \Omega^{2} K^{2} K = 2\Lambda \end{split}$$

K=22 epyciclyc frequency.